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QUESTION 1

Host multi-pathing describes a solution that has at least two distinct paths to a LUN.

A. Token ring, physical

B. FC SAN, virtual

C. FC or IP SAN, virtual
D. FC or IP SAN, Physical

Correct Answer: D

QUESTION 2

If the security style is set to UNIX, CIFS client file access is determined by

A. NT ACLs

B. the last client to set permissions

C. the mapped UNIX UID/GID of the CIFS client and the UNIX file permissions

D. This is not allowed: A CIFS client cannot access files in a path set to a security style of UNIX

Correct Answer: C

QUESTION 3

Which three /etc/snapmirror.conf entries will support synchronous or semi-synchronous SnapMirror?

A. FilerA:source_vol FilerB:destination_vol visibility_interval = lhr, outstanding = 3ms, cksum=crc32 syns
B. FilerA:source_vol FilerB:destination_vol 0-55/5 * * *

C. FilerA:source_vol FilerB:destination_vol sync

D. FilerA:source_vol FilerB:destination_vol outstanding=3s sync

Correct Answer: ACD

QUESTION 4
How must licenses lot block protocols be installed? (Choose two.)
A. Licenses must be installed only on clusters that do not have any NAS protocols (such as NFS or CIFS) installed.

B. Licenses must be installed only on clusters with the supported numb of nodes or fewer.
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C. Licenses must be installed for the entire cluster.
D. Licenses must be installed on each node in the cluster that will serve data via a block protocol.

Correct Answer: CD

QUESTION 5

What are two defaults for a new Data ONTAP 8.1 system root aggregate? (Choose two.)
A. 32-bit

B. 64-bit

C. 0% aggr reserve

D. 5% aggr reserve

Correct Answer: BC

NS0-504 VCE Dumps NSO0-504 Practice Test NS0-504 Exam Questions

NSO0-504 VCE Dumps | NS0-504 Practice Test | NS0-504 Exam Questions 3/3


https://www.pass4itsure.com/ns0-504.html
https://www.pass4itsure.com/ns0-504.html
https://www.pass4itsure.com/ns0-504.html
http://www.tcpdf.org
https://www.pass4itsure.com/ns0-504.html
https://www.pass4itsure.com/ns0-504.html
https://www.pass4itsure.com/ns0-504.html

